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of| Ak F7413] w9 s de)
A
71 A =] H] o/
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8. [=]vle A gl 1,300 0 1,300
Az 122)7A] (2 A 2
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1. 313489 8,850 7,080 1,770
1. [Z]guAH3AY 7,080 7,080 0
1.5k 3,430 3,430 0
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2. [2]1ARIAF &9 1,770 0 1,770
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1. 3080 1,770 0 1,770/ 8 HALT) ST AA (54) 1,000,000
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(BHFA 13N EFFY (=) 70,000 770,000
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= A 247174 ¢ (10,208,000 1
1.8]F34n 10,208 7,000 3,208 B S 3,208,000
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1.3 s E A 26,630 0 26,630
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i ' 77110,00090 #6634 7= T
2. [T 20,000 0 20,000
Az 1=)Z 71 AEHADA °
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(No_% A_15) 4 FFAL 0 4,808,000 %2 9,616,000
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2.8t W E 2 o) 1,500 0 1,500
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(AHEA_1F) ORI 0 (53)
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AR )\E = o
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€)-2,000,0009=
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A AT ¢ (133,1009#12
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ARA_1F) A A909] 2
17174412 911 A ] 18,644 0| 18,644 (‘ﬂb-{}*)x" = I+ 1,512,5004 18,150,000
#1129 =
22491 734] ¢ 494,000 %19 = 494,000
A W3 0 (200,000 %256
2. Adukgn 9,734 7,844 1,890| 1~ ' 1,600,000
i 3])-800,0009=
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5.[z]3A %= 2,796 2,880 -84
1,914 g 2.796] 2,880 84 ;:j;{f:;fiih (233,0009+12 -84,000
2.8t P 2,120 2,120 0
1.3t 3943 1,120 1,120 0
1[z]3 914383 1,120 1,120 0
1.9 320 320 0
2. Rkl Fxm] 800 800 0
2. 957528 1,000 1,000 0
1.[z]3Hs)ed 500 500 0
1. d¥kEgH 500 500 0
2. [Z]gFELS 500 500 0
1. dnkpgn) 200 200 0
2. x99 300 300 0
3.5 w7 &g 37,113 35,967 1,146
15X 7124 25,061 25,265 -204
1. (2] e 6,290 6,290 0
1.99H] 960 960 0
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3. TG TR 3,000 3,000 0
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